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"1. 'i)'191fltJthm1J~fl 1tJii

"1.1) 'i)'1flntl1fJf111~tyti1fJV'l"''1'11'U (power) ,'U~tJUtJtJ'Ufl'l dynamic dissipation 111Jn'lt~fJ'Uflntl1fJ'(;11Jf111

f'iltll ~fJ'Ufl'lf111'(;1Wti1fJV'l"''1'11'UUtJtJ1~'Ulijfl (2 f1~U'U'U)
•• u

1.3) 'i)'1t~fJ'Uflntl1fJ"'fl'l:lW~~tytylW'U1Wf11 clk ~1fJ.fl1'l:l1 SPICE fh'VI'U~ ,..r~tytylWtnWf11ij duty cycle 50%,

200ps ffl'V1i'tJ fall m'1~rise time, ijfl1tJ period = 1,000 ps ufl~ijU1'1~'U1rl~lfld~ 3.3 V (3 f1~U'U'U)

"1.4) 'i)'111~~tJ1'1'i)1'n11'U9f'(;1t91fl{(static CMOS) U'n'Uf111nl'11'U'Ufl'l'(;11Jf111~fl11..lii (3 f1~U'U'U)

Y = (A*B*C) + (D*E)
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, ~,,.,o .q tI jJ .d i ~ 0 d
3. ,,-:jtltlflU1J1J1·Hll Static CMOS'\ltl-:j multiplexer 'Yl 'lI'''1'\.J1'\.J'Yl'jl'Ut]f'ff~fltl'j'\.Jtl[J'Yl''X~ ~V1Jfll'j'Yll-:jl'\.J911:U'Yl

"" ~tl1i1J1[J~1[J.fl1lJl Verilog (10 f1~U'\.J'\.J)
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4. 'il'l()()flU'U'U1'l'il~ XNOR J11V pass transistor logic (20 fl~U'U'U)
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5. 'il'lf)f)f1UUUu"~ff';jln·HI';jU1f1 4-2 compressor 'YI1.Jm';j'Yl1'lllJ\PI11.Jff1.Jm';j~llJ"1'l

PS = PI <f)P2 <f)P3 Ej1P4ffi Cin

PC = Cin(PI Ej1 P2 ffi P3 <f) P4) + P3(Plffi P2 (d;) P3 Ej1 P4 )

Caut = PI(P2 ED P4) + P2(P2 ED P4)

1 ~ """5.1 'il'l11~1'l'il';j 4-2 compressor lJ';j~~U'IJf)'l'YI';jlWlffft\PIf)';j (l 0 fl~UlJlJ)


